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TNPSC GROUP I test batch – 2020 
TEST XXVI – PREMODEL I 

GENERAL SCIENCE, GEOGRAPHY OF INDIA, APTITUDE AND MENTAL ABILITY 
 

1. Arrange the heights of the given peaks in an ascending order  
1. Kanchenjunga  2. Nanga Parbat   3. Mt. Everest    
4. Dhaulagiri    5. Godwin Austen   6. Nanda Devi  
a. 4, 1, 6, 2, 3, 5   b. 4, 6, 2, 1, 5, 3 
c. 6, 2, 4, 1, 5, 3   d. 4, 2, 6, 1, 5, 3  
nfhLf;fg;gl;l rpfuq;fis mtw;wpd; cauj;jpd; mbg;gilapy; VWtupirapy; mikf;f. 
1. fQ;rd; [q;fh  2. eq;fh gu;ghl;  3. kTd;l; vtnu];l; 
4. njsyfpup   5. fhl;tpd; M];l;bd;  6. ee;jh Njtp 
a. 4, 1, 6, 2, 3, 5   b. 4, 6, 2, 1, 5, 3 
c. 6, 2, 4, 1, 5, 3   d. 4, 2, 6, 1, 5, 3  

 
2. Match the following: 

A. Bhabar plain  1. New alluvial tracts 
B. Tarai Tract    2. Composed of gravels and Unassorted Sediments     
C. Khadar Plains  3. Older alluvial tracts 
D. Bhangar Plains  4. Zone of excessive dampness 
 A B C D 
a. 1 2 3 4 
b. 2 4 1 3 
c. 2 4 3 1 
d. 3 4 1 2 
nghUj;Jf. 
A. ghgu; rkntsp  1. Gjpa tz;ly; kz; 
B. juha; kz;lyk;  2. ngUkzy;fs;> gyjug;gl;l gbTfshy; MdgFjp 
C. fhju; rkntsp  3. gioa tz;ly; kz; 
D. ghq;fu; rkntsp  4. mjpf <ug;gjk; nfhz;l gFjp 
 A B C D 
a. 1 2 3 4 
b. 2 4 1 3 
c. 2 4 3 1 
d. 3 4 1 2 

  
3. Consider the following statements 

1. Narmada river divides the plateau region of India into two parts. 
2. The western part of the central Highland is Malwa Plateau 

a. 1 only correct  b. 2 only correct 
c. Both are correct  d. both are incorrect 
gpd;tUk; $w;Wfis Ma;f 
1. eh;kjh MW ,e;jpahtpd; gPlG+kpg; gFjpia ,uz;lhfg; gpupf;fpwJ? 
2. kj;jpa cau;epyg;gFjpapd; Nkw;Fg; gFjp khstg; gPlg+kpahFk; 
a. 1 kl;Lk; rhp   b. 2 kl;Lk; rhp 
c. ,uz;Lk; rhp   d. ,uz;Lk; jtW 
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4. Choose the correct statements 
I. The southern tip, the Indira Col is a part of Nicobar island. 
II. Kavaratti is the administrative capital of Lakshadweep. 
III. Laccadive, Minicoy and Amindivi were collectively named as Lakshadweep in 1973. 
IV. The uninhabited “Pitt Island” of Lakshadweep has a wildlife sanctuary. 
a. I, II, III, IV   b. I, II, III   c. Only II, III   d. Only I, II  
rhpahd $w;Wfis fz;lwpf 
I. ,e;jpahtpd; njd;Nfhb Kidahd ,e;jpuhNfhy; epf;Nfhghu; jPtpy; mike;Js;sJ. 
II. ftuhl;b vd;gJ yl;rj;jPTfspd; eph;thf jiyefuk;. 
III. ,yl;rj;jPT> kpdpf;fha; kw;Wk; mkpdpj; jPT $l;lq;fs; 1973-Mk; Mz;L Kjy; ,yl;rj;jPTfs; 

vd miof;fg;gLfpd;wJ. 
IV. ,yl;rj;jPtpYs;s kdpjh;fs; trpf;fhj gpl;jPT gFjpapy; tdtpyq;F ruzhyak; mike;Js;sJ. 
a. I, II, III, IV rup b. I, II, III rup  c. II, III kl;Lk; rup  d. I, II kl;Lk; rup 
 

5. Match the following: 
Rivers    Origin  
A. Krishna   1. Betul  
B. Kaveri   2. Mahabaleshwar 
C. Narmada   3. Kudagu  
D. Tapti  4. Amarkantak  
 A B C D 
a. 2 1 3 4 
b. 2 3 1 4 
c. 2 3 4 1 
d. 2 4 1 3 
nghUj;Jf: 
MWfs;   Njhd;Wkplk; 
A. fpU~;zh  1. ngl;Ly; 
B. fhtpup  2. kfhgNy~;tu; 
C. eu;kij  3. FlF 
D. jgjp  4. mku;fz;lf; 
 A B C D 
a. 2 1 3 4 
b. 2 3 1 4 
c. 2 3 4 1 
d. 2 4 1 3 

 
6. The average annual rainfall of India is _________ 

a. 108cm  b. 118cm  c. 100cm   d. 98 cm  
,e;jpahtpd; ruhrhp kiog;nghopT Xuhz;by; _____. 
a. 108 nr.kP  b. 118 nr.kP  c. 100 nr.kP  d. 98 nr.kP 

  

7. Which of the following statements is/are correct? 
1. Mawsynram receives highest rainfall in the world  
2. Mawsynram is located in Megalaya  
3. Over all about 65% of Indian rainfall is received from southwest monsoon  
4. Andhra Pradesh, Tamilnadu, Kerala and South Interior Karnataka receive 35% of their annual 

rainfall from north east monsoon 
a. 1, 2, 3, 4 are correct   b. 1, 2, 4 are correct  
c. 2, 3 are correct    d. 1, 4 are correct   
gpd;tUk; $w;Wfspy; vit rupahdit? 
1. nksrpd;uhk; cyfpy; mjpf kiog;nghopT ngWk; gFjp. 
2. nksrpd;uhk; Nkfyah khepyj;jpy; mike;Js;sJ. 
3. ,e;jpahtpy; xl;Lnkhj;j kiog;nghopT 65% njd;Nkw;Fg; gUtf;fhw;W fhyj;jpy; fpilf;fpwJ. 
4. tlfpof;F gUtf;fhw;wpd; %yk; Me;jpugpuNjrk;> jkpo;ehL> Nfush kw;Wk; njd; fh;ehlfhtpd; 

cl;gFjpfs; Rkhh; 35 rjtPj Mz;L kiog;nghopit ngWfpd;wd. 
a. 1> 2> 3> 4 rup  b. 1> 2> 4 rup  c. 2> 3 rup  d. 1> 4 rup 
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8. Match the following 
Biosphere Reserves  State 
A. Dibru Saikowa  1. Assam 
B. Dihang Dibang  2. Arunachal Pradesh 
C. Nokrek   3. Meghalaya 
D. Nanda Devi  4. Uttarakhand 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 2 1 4 3 
d. 1 2 4 3 
nghUj;Jf: 
capu;f;Nfhs fhg;gfq;fs; khepyk; 
A. jpg;U nra;nfhth  1. mrhk; 
B. jpNfq; jpgq;  2. mUzhr;ry; gpuNjrk; 
C. ehf;nuf;   3. Nkfhyah 
D. ee;jh Njtp   4. cj;ufhz;l; 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 2 1 4 3 
d. 1 2 4 3 
 

9. Match the following 
Shifting Cultivation  State 
A. Poonam   1. Assam 
B. Jhum   2. Madhya Pradesh 
C. Mashan   3. Kerala 
D. Podu   4. Andhra Pradesh 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 4 1 2 3 
d. 3 1 2 4 
nghUj;Jf 
,lk;ngau;T Ntshz;ik khepyk; 
A. nghd;dk;   1. m]hk; 
B. [Pk;    2. kj;jpag; gpuNjrk; 
C. khrd;   3. Nfush 
D. nghL   4. Me;jpu gpuNjrk; 
 A B C D 
a. 1 2 3 4 
b. 2 1 3 4 
c. 4 1 2 3 
d. 3 1 2 4 

 
10. Match the following 

Name of Projects   River 
A. Nagarjunasagar   1. Mahanadi 
B. Indira Gandhi Canal Project 2. Kaveri 
C. Hirakud Project   3. Krishna 
D. Mettur Dam   4. Sutlej 
E. Sardar Sarovar   5. Narmada 
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 A B C D E 
a. 1 4 3 2 5 
b. 4 3 1 2 5 
c. 3 4 1 2 5 
d. 1 2 3 4 5 
nghUj;Jf 
jpl;lq;fs;    MW 
A. ehfhu;[_d rhfu;   1. kfhejp 
B. ,e;jpuhfhe;jp fhy;tha;  2. fhtpup 
C. `puhFl; jpl;lk;   3. fpU~;zh 
D. Nkl;^u; miz   4. rl;ny[; 
E. ru;jhu; rNuhtu;   5. eu;kij 
 A B C D E 
a. 1 4 3 2 5 
b. 4 3 1 2 5 
c. 3 4 1 2 5 
d. 1 2 3 4 5 

 
11. Which of the following is/are correct in descending order of coals based on Carbon content? 

I. Bituminous  II. Peat   III. Lignite  IV. Anthracite 
a. II, III, I, IV  b. II, III, IV, I  c. IV, I, II, III  d. IV, I, III, II 
epyf;fupfs; cs;slf;fpa fhu;gd; rjtPj mbg;gilapy; ,wq;Ftupirapd;gb gpd;tUtdtw;Ws; vJ 
rupahdJ? 
I. gpl;Lkpd];  II. gPl;   III. ypf;idl;  IV. Me;juirl; 
a. II, III, I, IV  b. II, III, IV, I  c. IV, I, II, III  d. IV, I, III, II 

 
12. Match the following. 

Nuclear Power Station State 
A. Rawatbhata  1. Karnataka 
B. Narora   2. Gujarat 
C. Kaiga   3. Uttar Pradesh 
D. Kakrapara   4. Maharashtra 
E. Tarapur   5. Rajasthan 
 A B C D E 
a. 5 3 1 4 2 
b. 4 2 5 3 1 
c. 3 5 1 4 2 
d. 5 3 1 2 4 
nghUj;Jf. 
mZkpd; epiyak;  khepyk; 
A. ,utj; gl;lh  1. fu;ehlfh 
B. eNuhuh   2. F[uhj; 
C. iffh   3. cj;jpug;gpuNjrk; 
D. fhf;ughuh   4. k`huh~;buh 
E. jhuhg;G+u;   5. uh[];jhd; 
 A B C D E 
a. 5 3 1 4 2 
b. 4 2 5 3 1 
c. 3 5 1 4 2 
d. 5 3 1 2 4 

 
13. Consider the following 

Assertion (A) : Chennai is nicknamed as the “Detroit of Asia”. 
Reason (R) : Presence of major electronic manufacturing units and allied industries around the 
Chennai city. 
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a. Both (A) and (R) are true, and (R) is the correct explanation of (A). 
b. Both (A) and (R) are true, and (R) is not the correct explanation of (A) 
c. (A) is false, but (R) is true 
d. (A) is true but (R) is false 
gpd;tUtdtw;iw Ma;f 
$w;W (A): nrd;id Mrpahtpd; nll;uha;l; vd;W miof;fg;gLfpwJ. 
fhuzk; (R): gpujhd kpd;dZ njhopw;rhiyfSk; mjid rhu;e;j njhopw;rhiyfSk; nrd;idia 
Rw;wpAs;s gFjpfspy; cs;sd. 

a. (A) kw;Wk; (R) ,uz;Lk; rup. NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rup. NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fky;y. 
c. (A) jtW> Mdhy; (R) rup 
d. (A) rup> Mdhy; (R) jtW 

 

14. Which of the following statements is/are correct? 
1. First census of India was conducted in 1871. 
2. First complete and synchronous census of India was conducted in 1882. 
3. 2001 the Fourteenth census of India. 
4. Goa is least populous state of India. 
5. Bihar is the most densely populated state of India 
6. Andaman and Nicobar Islands have the lowest density of population in Union territories. 
a. 1, 2, 4  b. 3, 5, 6  c. 1, 2, 3  d. 4, 5, 6 
gpd;tUk; $w;Wfspy; vit rupahdit? 
1. ,e;jpahtpd; Kjy; kf;fs; njhif fzf;nfLg;G 1871-,y; Nkw;nfhs;sg;gl;lJ. 
2. KOikahd Kjy; kf;fs;njhif fzf;nfLg;G  1882-,y; Nkw;nfhs;sg;gl;lJ. 
3. 2001 ,y; gjpdhd;fhtJ kf;fs;njhif fzf;nfLg;G elj;jg;gl;lJ. 
4. Nfhth ,e;jpahtpy; kpf Fiwe;j kf;fs;njhif nfhz;l khepyk;. 
5. gPfhu; ,e;jpahtpy; kpf mjpf kf;fslu;j;jp nfhz;l khepyk;. 
6. A+dpad; gpuNjrq;fspy; me;jkhd; kw;Wk; epf;Nfhghu; kpf Fiwe;j kf;fslu;j;jp nfhz;lit. 
a. 1, 2, 4  b. 3, 5, 6  c. 1, 2, 3  d. 4, 5, 6 

 

15. The two corridors, North-South and East-West intersect at ____. 
a. Satara  b. Jhansi  c. Varanasi  d. Delhi 
tl-njd; kw;Wk; fpof;F – Nkw;F gFjpfis ,izf;Fk; rhiyfs; re;jpf;Fk; ,lk; ___. 
a. rj;jhuh  b. [hd;rp  c. thuzhrp  d. nly;yp 

 

16. Match the following 
Railway Zones   Headquarter 
A. Northern Railway   1. Delhi 
B. North Western  Railway  2. Gorakhpur 
C. North Central Railway  3. Jaipur 
D. North Eastern Railway  4. Allahabad 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 1 3 4 2 
nghUj;Jf. 
,uapy;Nt kz;lyk;  jiyikaplk; 
A. tlf;F ,uapy;Nt  1. nly;yp 
B. tlNkw;F ,uapy;Nt 2. Nfhuf;G+u; 
C. tlkj;jpa ,uapy;Nt 3. n[a;g;G+u; 
D. tlfpof;F ,uapy;Nt 4. myfhghj; 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 1 3 4 2 
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17. Which of the following statements is/are correct? 
1. Konkan Railway connect Roha in Maharashtra to Mangaluru in Karnataka. 
2. It covers distance of 760km. 
3. Konkan Railways otherwise called as engineering marvel. 
4. Asia’s longest tunnel is in the route of Konkan Railway. 

a. 1, 2, 3, 4  b. 1, 2, 3  c. 1, 2   d. 3, 4 
gpd;tUk; $w;Wfspy; vit rupahdJ? 
1. nfhq;fd; ,uapy;Nt k`huh~;buhtpYs;s NuhfhitAk; fu;ehlfj;jpYs;s kq;f@iuAk; 

,izf;fpwJ. 
2. ,J 760 fp.kP. ePsk; nfhz;lJ. 
3. nfhq;fd; ,uapy;Nt nghwpapay; Jiwapd; mjprak; vd;W miof;fg;gLfpwJ. 
4. Mrpahtpd; kpf ePskhd Ruq;fg;ghij ,t;topapy; mike;Js;sJ. 
a. 1, 2, 3, 4  b. 1, 2, 3  c. 1, 2   d. 3, 4 

 
18. Match the following 

National Waterways  Place 
A. NW1   1. Sadiya to Dhubri 
B. NW2   2. Allahabad to Haldia 
C. NW3   3. Talcher to Dhamra 
D. NW5   4. Kollam to Kottapuram 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3 
nghUj;Jf 
Njrpa ePu;top   ,lk; 
A. NW1   1. rhbahtpypUe;J Jg;uptiu 
B. NW2   2. myfhghj;jpypUe;J `hy;jpah 
C. NW3   3. jhy;rupapypUe;J jhk;uh 
D. NW5   4. nfhy;ykpypUe;J Nfhl;lGuk; 
 A B C D 
a. 1 2 3 4 
b. 1 2 4 3 
c. 2 1 3 4 
d. 2 1 4 3 

 
19. Indian Space Research Organisation (ISRO) was established in 

a. 1949  b. 1942  c. 1962  d. 1969 
,e;jpa tpz;ntsp Muha;r;rp ikak; (ISRO) njhlq;fg;gl;l Mz;L 
a. 1949  b. 1942  c. 1962  d. 1969 

 
20. India’s tallest air traffic control tower was inaugurated at 

a. Chhatrapati Shivaji International Airport, Mumbai 
b. Rajiv Gandhi International Airport, Hyderabad 
c. Kempagowda International Airport, Bengaluru 
d. Indira Gandhi International Airport, New Delhi 
,e;jpahtpd; kpf caukhd tpkhdg;Nghf;Ftuj;J fl;Lg;ghl;Lf; NfhGuk; vq;F mikf;fg;gl;Ls;sJ? 
a. rj;jpugjp rpth[p rh;tNjr tpkhd epiyak;> Kk;ig 
b. uh[pt;fhe;jp rh;tNjr tpkhd epiyak;> i`juhghj; 
c. nfk;gnfslh rh;tNjr tpkhd epiyak;> ngq;f@U 
d. ,e;jpuh fhe;jp rh;tNjr tpkhd epiyak;> epa+ nly;yp 
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21. Which of the following statement about Santhals is/are correct? 
I. Santhals are the fourth largest tribe in India 
II. They belong to the pre-Aryan period and have been the great fighters from the time of the 

British 
III. They celebrate Sekrenyi festival 
IV. They are mostly found in the states of West Bengal, Bihar, Odisha, Jharkhand  and Assam 
a. I, II, III  b. I, III  c. II, IV  d. III, IV  
rhe;jyu;fs; gw;wp gpd;tUk; $w;Wfspy; vit rupahdit? 
I. ,e;jpahtpd; ehd;fhtJ ngupa goq;Fbapdu;. 
II. Ke;ija Mu;a fhyj;ijr; rhu;e;jtuhd ,tu;fs; gpupl;b~; fhyj;jpypUe;Nj ngUk; Nghuhspfshf 

,Ue;jpUf;fpd;wdu;. 
III. mth;fs; rPf;Nuzp jpUtpohit nfhz;lhLfpd;wdh; 
IV. mth;fs; ngUk;ghYk; Nkw;F tq;fk;> gPfhh;> xb~h> [hh;f;fz;l; kw;Wk; m];]hk; khepyq;fspy; 

fhzg;gLfpd;wdh;. 
a. I, II, III  b. I, III  c. II, IV  d. III, IV 

 
22. International Day for disaster reduction 

a. October 13  b. September 13  c. June 27  d. December 13 
cyfg; Nghplh; Fiwg;G ehs;  
a. mf;Nlhgh; 13 b. nrg;lk;gh; 13  c. [Pd; 27  d. brk;gh; 13 

 
23. The temperature decreases with increasing altitude at the rate of 

a. 1°C per 135 m b. 1°C per 165 m  c. 1°C per 13.5 km d. 1°C per 16.5 km 
ve;j tpfpjj;jpy; cauk; mjpfhpf;Fk; nghOJ ntg;gk; FiwfpwJ? 
a. 1°C / 135 m  b. 1°C / 165 m   c. 1°C / 13.5 km d. 1°C / 16.5 km 

 
24. Match the following 

A. 1901-1921  1. Stagnant population 
B. 1951-1981  2. Steady growth 
C. 1921-1951  3. Rapid high growth 
D. 1981-2001  4. Reducing high growth 
 A B C D  
a. 1 3 2 4 
b. 1 2 3 4 
c. 2 1 4 3 
d. 4 3 2 1 
nghUj;Jf: 
A. 1901 – 1921  1. kf;fs; njhifapy; Njf;fepiy 
B. 1951 – 1981  2. rPuhd tsh;r;rp  
C. 1921 – 1951  3. tpiuthd cah; tsh;r;rp  
D. 1981 – 2001  4. Fiwtjw;fhd mwpFwpfs;  
 A B C D  
a. 1 3 2 4 
b. 1 2 3 4 
c. 2 1 4 3 
d. 4 3 2 1 

 
25. The most urbanised state in India is 

a. Tamilnadu   b. Maharashtra c. Karnataka  d. Goa 
,e;jpahtpd; kpFe;j efukakhf;fg;gl;l khepyk; _________ 
a. jkpo;ehL   b. kfhuh~;buk;  c. fh;ehlfk;  d. Nfhth 

 
26. What is the length of Indus river in Indian Territory? 

a. 719 km    b. 700 km   c. 709 km   d. 740 km 
,e;jpa epyg;gFjpf;Fs; rpe;J ejpapd; ePsk; vd;d? 
a. 719 fp.kP  b. 700 fp.kP    c. 709 fp.kP  d. 740 fp.kP 
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27. Which of the following river flows from West to East? 
a. Damodar River b. The Son River  c. Ken River  d. Tista River 
gpd;tUtdtw;wpy; ve;j MW Nkw;fpypUe;J fpof;F Nehf;fp gha;fpwJ? 
a. jhNkhjh; MW b. Nrhd; MW   c. nfd; MW  d. jp];lh MW 

 
28. The Major Dravidian languages are ___ in Numbers 

a. Five   b. Four   c. Three  d. Six 
Kf;fpa jpuhtpl nkhopfspd; vz;zpf;if _______ 
a. Ie;J  b. ehd;F  c. %d;W  d. MW 

 
29. Choose the correct statement(s) regarding Vardha cyclone 

I. Tropical cyclone Vardha hit Chennai on 22nd December 2016 

II. Maximum sustained wind speeds of over 130 km/hr was recorded  

a. I only  b. II only  c. both   d. none 
 th;jh Gay; gw;wp rhpahd $w;W(fis) fz;lwpf 

I. ntg;gkz;ly Gayhd th;jh 22 brk;gh;> 2016 md;W nrd;idia jhf;fpaJ 

II. fhw;wpd; mjpfgl;r NtfkhdJ kzpf;F 130 fp.kP Nky; vd gjpthfpTs;sJ. 
a. I kl;Lk;  b. II kl;Lk;  c. ,uz;Lk;  d. ,uz;Lky;y 
 

30. Consider the following statements 

I. The total percentage of arable land is 48.83 in India and its nutritional density 753 per sq.km 

of land 

II. The plains and river valleys of India are not densely populated  

III. 33.6% of Indian population is urban 

IV. Uttar Pradesh, Bihar, Madhya Pradesh, Rajasthan, Odisha and West Bengal are the six Indian 

states which account for about 70% of all illiterates in India  

a. I, IV are correct b. I, III are correct c. I, II, III are correct  d. II, III, IV are correct 
gpd;tUk; $w;Wfis Ma;f 
I. ,e;jpahtpy; cs;s nkhj;j tpisepyk; 48.83 rjtPjkhFk; kw;Wk; mjd; Cl;lr;rj;J mlh;j;jp 

r.fpkPf;F 753 Ngh; MFk;. 

II. ,e;jpa rkntsp kw;Wk; Mw;Wg; gs;sj;jhf;Ffs; mlh;j;jpaw;w kf;fs;njhif nfhz;lit. 
III. nkhj;j ,e;jpa kf;fs;njhifapy; 33.6 rjtPjk; efh;g;Gw kf;fshth; 
IV. cj;jpugpuNjrk;> gPfhh;> kj;jpagpuNjrk;> uh[];jhd;> xbrh kw;Wk; Nkw;Ftq;fk; Mfpait 

,e;jpahtpy; 70 rjtPj gbg;gwptw;wth;fis nfhz;Ls;s MW khepyq;fshFk;. 
a. I, IV rhp  b. I, III rhp  c. I, II, III rhp   d. II, III, IV rhp 

  
31. Choose the incorrect statement 

a. There are around 38 tribes and sub tribes in Tamilnadu 

b. Kota tribes of Tamilnadu are expert iron smiths, potters and carpenters  

c. Paliyan tribes are distributed in the districts of Madurai, Tanjore, Pudukottai, Tirunelveli and 

Coimbatore 

d. None of these  
jtwhd $w;wpidf; fz;lwpf 
a. jkpo;ehl;by; Rkhh; 38 goq;Fbapdh; kw;Wk; Jiz goq;Fbapdh; FOf;fs; fhzg;gLfpwJ 

b. jkpo;ehl;by; cs;s Nfhlh goq;Fbapdh; nfhy;yh;> Fath;fs; kw;Wk; jr;R epGzh;fshf cs;sdh;. 
c. ghypahd; goq;Fbapdh; kJiu> jQ;rht+h;> GJf;Nfhl;il> jpUney;Ntyp kw;Wk; Nfhak;Gj;J}h; 

khtl;lq;fspy; gutyhf fhzg;gLfpd;wdh;. 
d. ,tw;wpy; vJTkpy;iy 

 

32. Alpine forest occurs all along the Himalayas with above ______ altitude  

a. 2400 m  b. 2800 m  c. 3200 m  d. 1800 m 
Rkhh; ______ f;F Nky; cs;s ,kakiyfspd; caukhd gFjpfspy; my;igd; fhLfs; fhzg;gLfpd;wd. 
a. 2400 m  b. 2800 m  c. 3200 m  d. 1800 m 
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33. Choose the correct statement 

a. Tidal forests are known for Tamarisk and Tamarind trees. 

b. Riverine forests are littoral forests. 

c. Mangrove forests are also known as Delta or Swamp forests. 

d. Tropical thorn forest have high humidity and low temperature  
rhpahd $w;wpidf; fz;lwpf 
a. flw;fiuNahuf; fhLfs; gRikahd Gjh; jhtuq;fs; kw;Wk; Gspakuk; Nghd;wtw;wpw;F ngah; 

Nghdit 
b. Mw;wq;fiu fhLfs; flw;fiu fhLfs; MFk; 
c. khq;FNuht; fhLfs; rJg;G epyf;fhLfs; kw;Wk; nly;lh fhLfs; vdTk; miof;fg;gLfpd;wd. 
d. Kl;Gjh; fhLfs; mjpf <ug;gjj;ijAk; Fiwe;j ntg;gj;ijAk; nfhz;lit MFk;. 

 
34. _________ soils are found in eastern parts of deccan plateau, southern states of Kerala, Tamilnadu, 

Karnataka and Chotta Nagpur plateau (Jharkhand). 

a. Laterite  b. Peaty   c. Alkaline   d. Red 
_________ jf;fhz gPlg+kpapd; fpof;Fg; gFjp> njd; khepyq;fshd Nfush> jkpo;ehL> fh;ehlfk; kw;Wk; 
Nrhl;lh ehfGhp gPlg+kp ([hh;fz;l;) ,y; fhzg;gLfpd;wd. 
a. ruis kz;  b. fspkz;  c. fhu kz;  d. nrk;kz; 

 
35. Choose the correct statements 

I. Western disturbance causes rainfall in Haryana. 

II. ‘Mango Showers’ helps in quick ripening of mangoes along the coast of Kerala and Karnataka. 

III. Southwest monsoon is influenced by global phenomenon like ElNino. 

IV. Southwest monsoon is also called as Retreating monsoon. 

a. I, II, III, IV   b. II, III, IV   c. I, II, III    d. Only III, IV  
rhpahd $w;Wfis fz;lwpf 
I. Nkw;fj;jpa ,ilA+Wfs; `upahdhtpy; kioiaj; jUfpd;wd. 
II. khQ;rhuy; Nfush kw;Wk; fu;ehlff; flw;fiu gFjpfspy; tpisAk; khq;fha;fs; tpiutpy; 

Kjpu;tjw;F cjTfpwJ. 
III. cyfshtpa fhyepiy epfo;thd “vy;epNdh” njd;Nkw;F gUtf;fhw;W fhyj;jpy; kpfg;ngUk; 

jhf;fj;ij Vw;gLj;JfpwJ. 
IV. njd;Nkw;Fg; gUtf;fhw;W gpd;dilAk; gUtf;fhw;W vdTk; miof;fg;gLfpd;wd. 
a. I, II, III, IV rup b. II, III, IV rup  c. I, II, III kl;Lk; rup  d. III, IV kl;Lk; rup 

 
36. Which of the following statements is/are correct? 

1. Desert and semi desert vegetation are also called as “Tropical Thorn Forest”. 
2. These are found in the areas having annual rainfall less than 25cm. 

a. Both 1,2 are correct  b. Only 1 is correct c. Only 2 is correct d. Both 1,2 are incorrect 
gpd;tUk; $w;Wfspy; rupahdit vit? 
1. ghiytd kw;Wk; miug; ghiytdj; jhtuq;fs; nfhz;lit “Kl;Gju;fhLfs;” vd;Wk; 

miof;fg;gLfpd;wJ. 
2. ,g;gFjpfspy; Mz;L ruhrhp kiog;nghopT 25.nr.kP. f;Fk; FiwT. 
a. 1> 2 Mfpa ,uz;LNk rup  b. 1 kl;Lk; rup 
c. 2 kl;Lk; rup    d. 1> 2 Mfpa ,uz;LNk jtW 

 
37. Which of the following soil has high degree of moisture retentivity? 

a. Red soil   b. Alluvial soil   c. Black soil  d. Laterite soil 
<ug;gjj;ij ePz;l Neuk; jf;f itj;Jf; nfhs;Sk; kz; vJ? 
a. nrk;kz;  b. tz;ly; kz;  c. fhpry; kz;  d. ruis kz; 

 
38. Which of the following is not a Kharif crop? 

a. Paddy  b. Cotton  c. Mustard  d. Bajra 
gpd;tUtdtw;wpy; ve;j gapu; fhup/g; gUtj;ijr; Nru;e;jJ my;y? 
a. ney;   b. gUj;jp  c. fLF  d. fk;G 
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39. Which of the following statements is/are correct? 

1. India is ranked third in sugarcane production in the world after Cuba and Brazil. 
2. India is the second largest producer of sugar in the world. 
3. Uttar Pradesh is the leading producer of sugarcane. 
4. Chhattisgarh is known as sugar bowl of India. 

a. 1, 2, 3, 4   b. 1, 2, 3 c. 1, 2  d. only 3 
gpd;tUk; $w;Wfspy; vit rupahdit? 
1. ,e;jpah fUk;G cw;gj;jpapy; fpA+gh> gpNurpy; mLj;J cyfstpy; %d;whkplk;. 
2. ,e;jpah ru;f;fiu cw;gj;jpapy; cyfstpy; ,uz;lhkplk;. 
3. ,e;jpahtpy; cj;jug;gpuNjrk; fUk;G cw;gj;jpapy; Kjd;ik khepykhf cs;sJ. 
4. rj;jP];fu; ,e;jpahtpd; ru;f;fiuf; fpz;zk; vd;wiof;fg;gLfpd;wJ. 
a. 1> 2> 3> 4  b. 1> 2> 3  c. 1> 2  d. 3 kl;Lk; 

 
40. Consider the following 

Assertion (A) : Tamilnadu has the largest installation of wind turbines in India. 

Reason (R) : Muppandal – Perungudi area near Kanniyakumari is the largest concentrations of wind 
farm capacity at a single location in the world. 
a. Both (A) and (R) are true, and (R) is the correct explanation of (A). 
b. Both (A) and (R) are true, and (R) is not the correct explanation of (A). 
c. (A) is true, but (R) is false 
d. (A) is false, but (R) is true 
gpd;tUtdtw;iw Ma;f 
$w;W (A) : ,e;jpahtpNyNa mjpf msT fhw;whiyfisf; nfhz;Ls;s khepyk; jkpo;ehL. 
fhuzk; (R) : fd;dpahFkupapy; cs;s Kg;ge;jy; - ngUq;Fb gFjp cyfpNyNa xU gFjpapy; mjpf 
fhw;whiyfisf; nfhz;l fhw;whiy gz;iz. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fky;y. 
c. (A) rup> Mdhy; (R) jtW 
d. (A) jtW> Mdhy; (R) rup 

 
41. Byssionosis also called “Brown lung disease” or “Monday Fever” is an occupational lung disease 

caused by exposure to __________ 

a. Cotton dust  b. Industrial dust  c. Vehicle pollution  d. None of these 

igrpd;Ndhrp]; vdg;gLk; gOg;GEiuaPuy; Neha; (Monday Fever) vjdhy; Vw;gLfpwJ? 
a. gQ;rhiy Jfs; b. njhopw;rhiy Jfs;  c. thfd khR  d. ,it VJkpy;iy 

 
42. Consider the following 

Assertion (A) : Coimbatore is called as ‘Manchester of South India’. 

Reason (R) : Coimbatore is the largest producer of cotton in South India. 
a. Both (A) and (R) are true, and (R) is the correct explanation of (A). 
b. Both (A) and (R) are true, and (R) is not the correct explanation of (A) 
c. (A) is true, but (R) is false. 
d. (A) is false, but (R) is true. 
$w;W (A) : Nfhak;gj;J}u; njd;dpe;jpahtpd; khd;nr];lu; vd;wiof;fg;gLfpwJ. 
fhuzk; (R) : njd;dpe;jpahtpy; gUj;jp cw;gj;jpapy; Nfhak;gj;J}u; Kjyplk;. 
a. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fk;. 
b. (A) kw;Wk; (R) ,uz;Lk; rup> NkYk; (R) vd;gJ (A) tpw;F rupahd tpsf;fky;y. 
c. (A) rhp> Mdhy; (R) jtW 
d. (A) jtW> Mdhy; (R) rup 

 
43. Which of the following statements is/are correct? 

1. National Newesprit and papermills (NEPA) is at Allahabad district of Uttarpradesh. 
2. The first paper mill of India was started in 1812 at Serampore in West Bengal 
3. In 1907, Tata Iron and Steel Company was established at Jamshedpur. 
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4. The Premier Automobiles Ltd was the first automobile industry of India established in 1947 at 
Kurla (Mumbai) 

5. Make in India program was launched in 2015. 
a. 2, 3, 4, 5  b. 2, 3, 4  c. 1, 3, 5  d. 2, 4, 5 
gpd;tUk; $w;Wfspy; vit rupahdit? 
1. Njrpa nra;jpfs; kw;Wk; fhfpj Miyfs; (NEPA) cj;jpug;gpuNjrj;jpYs;s myfhghj;jpy; 

mike;Js;sJ. 
2. ,e;jpahtpd; Kjy; fhfpj njhopw;rhiy 1812-,y; Nkw;Ftq;fj;jpy; cs;s nruhk;G+u; vd;Dkplj;jpy; 

epWtg;gl;lJ. 
3. 1907 ,y;  lhlh ,Uk;G kw;Wk; v/F njhopw;rhiy [hk;n~l;G+upy; njhlq;fg;gl;lJ. 
4. ,e;jpahtpd; Kjy; thfdj; njhopyfk; Kk;ig mUfpy; Fu;yh vd;Dkplj;jpy; 1947-,y; gpuPkpau; 

thfd epWtdk; vd;w ngaupy; njhlq;fg;gl;lJ. 
5. ,e;jpahtpy; cUthf;FNthk; jpl;lk; 2015-,y; njhlq;fg;gl;lJ. 
a. 2, 3, 4, 5  b. 2, 3, 4  c. 1, 3, 5  d. 2, 4, 5 

 
44. Match the following 

Name of Industry    Establishment Year 
A. TISCO     1. 1982 
B. IISCO     2. 1972 
C. Salem Steel Company   3. 1923 
d. Visveswaraya Iron Steel Company 4. 1911 
 A B C D 
a. 1 2 3 4 
b. 2 1 4 3 
c. 4 1 2 3 
d. 4 2 1 3 
nghUj;Jf 
njhopw;rhiyapd; ngau;   Mz;L 
A. TISCO     1. 1982 
B. IISCO     2. 1972 
C. Nryk; v/F Miy    3. 1923 
D. tp];Nt];tua;ah ,Uk;G v/F epWtdk; 4. 1911 
 A B C D 
a. 1 2 3 4 
b. 2 1 4 3 
c. 4 1 2 3 
d. 4 2 1 3 

 
45. Hindustan Steel Company in Bhilai was started with the collaboration of ____ 

a. France  b. Germany  c. United Kingdom  d. Russia 
gpyha; gFjpapYs;s ,e;J];jhd; v/F epWtdk; ___ ehl;L JizAld; njhlq;fg;gl;lJ. 
a. gpuhd;];  b. n[u;kdp  c. ,q;fpyhe;J   d. u~;ah 

 

46. Consider the following statements 
1. Pradha Mantri Krishi Sinchayee Yojana related to Micro irrigation 
2. National Hydroelectric power corporation is located at Haldia 
3. First metro in India is Delhi  

a. 1, 3 correct  b. 1 only correct d. 3 only correct d. all are correct 
gpd;tUk; $w;Wfis Ma;f 
1. gpujk ke;jpup fpU~p rpQ;rhap Nah[dhTld; njhlu;GilaJ Ez;ePh; ghrdk; 
2. ,e;jpa Njrpa ePu; kpd;rf;jp epWtdk; mike;Js;s ,lk; `hy;bah 
3. ,e;jpahtpd; Kjy; nkl;Nuh nly;yp 
a. 1> 3 rhp  b. 1 kl;Lk; rhp  c. 3 kl;Lk; rhp  d. midj;Jk; rhp 
 

47. Consider the following statements 
1. The most widely distributed tribal groups in India is Bhils 
2. The Indian Council of Agriculture Research (ICAR) was setup in 1928 
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a. 1 only correct  b. 2 only correct 
c. Both are correct  d. Both are incorrect  
gpd;tUk; $w;Wfis Ma;f 
1. ,e;jpahtpy; kpfTk; gutyhf fhzg;gLk; goq;Fbapdf; FO gpy;];fs; Mth; 
2. ,e;jpa Ntshz; Muha;r;rpf; fofk; njhlq;fg;gl;l Mz;L 1928 
a. 1 kl;Lk; rhp  b. 2 kl;Lk; rhp  c. ,uz;Lk; rhp  d. ,uz;Lk; jtW 
 

48. Shenkottai pass is between 
a. Varshanadu hills and Agathiyar hills 
b. Thekkadi hills and Varshanadu hills 
c. Kodaikanal hills and Agathiyar hills 
d. Agathiyar hills and Thekkadi hills 
nrq;Nfhl;il fztha; vjw;F ,ilNa cs;sJ? 
a. tUr ehL kiy kw;Wk; mfj;jpah; kiy  
b. Njf;fb kiy kw;Wk; tUrehL kiy 
c. nfhilf;fhdy; kiy kw;Wk; mfj;jpah; kiy  
d. mfj;jpah; kiy kw;Wk; Njf;fb kiy  

 
49. Samba is one of the agriculture seasons of Tamilnadu. It is otherwise known as 

a. Chitthirai Pattam b. Adi Pattam  c. Avani Pattam d. Karthigai Pattam 
jkpo;ehl;bd; rhFgb gUtq;fSs; xd;whd rk;gh gUtj;jpd; kw;nwhU ngah; 
a. rpj;jpiug; gl;lk;  b. Mbg;gl;lk;   c. Mtzpg;gl;lk; d. fhh;j;jpifg; gl;lk;  
 

50. Identify the correct pairs 
1. Zojila - Kashmir 
2. Nathula - Sikkim 
3. Jelepla - Sikkim 
4. Shipkila - Himachal Pradesh 
a. 1, 2, 4 only  b. 1, 2, 3 only  c. 1, 3, 4 only  d. 1, 2, 3, 4 
rhpahd nghUj;jj;ij fhz;f.  
1. nrh[pyh  - fh~;kPh;  
2. ehJyh  - rpf;fpk;  
3. [yg;Gyh  - rpf;fpk;  
4. ~pg;fpyh  - ,khr;ry gpuNjrk;  
a. 1, 2, 4 kl;Lk; b. 1, 2, 3 kl;Lk;  c. 1, 3, 4 kl;Lk;  d. 1, 2, 3, 4 
 

51. Match the following 
A. Pontic Mountains  1. Iran 
B. Zagros Mountains  2. North America 
C. Himalayas   3. Central Asia 
D. Rockies   4. Indonesia 
E. Krakatau Volcano  5. Turkey 
   A B C D E 
a.  1 5 3 2 4 
b.  5 1 3 2 4 
c.  1 4 3 2 5 
d. 4 5 3 2 1 
nghUj;Jf: 
A. ghd;bf; kiyfs;   1. <uhd;  
B. [hf;uh]; kiyfs;  2. tl mnkhpf;fh  
C. ,kakiy    3. kj;jpa Mrpah 
D. uhf;fP];   4. ,e;NjhNdrpah 
E. fuhfhNlh vhpkiy  5. JUf;fp  
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   A B C D E 
a.  1 5 3 2 4 
b.  5 1 3 2 4 
c.  1 4 3 2 5 
d. 4 5 3 2 1 
 

52. The district which has the lowest density of population is 
a. Sivagangai  b. Nilgiris c. Kanyakumari  d. Thiruvallur 
kpff; Fiwe;j kf;fs; mlh;j;jp nfhz;Ls;s khtl;lk;  
a. rptfq;if   b. ePyfphp  c. fd;dpahFkhp  d. jpUts;@h;  
 

53. The length of the shortest and longest National Highways in India respectively is 
a. 5.7 km, 2468 km b. 5.9 km, 2369 km  c. 6.7 km, 3468 km d. 6.9 km, 3269 km 
,e;jpahtpy; Fiwthd kw;Wk; mjpf ePsKila Njrpa neLQ;rhiyfspd; ePsq;fs; KiwNa  
a. 5.7 fp.kP 2468 fp.kP b. 5.9 fp.kP> 2369 fp.kP  c. 6.7 fp.kP> 3468 fp.kP d. 6.9 fp.kP> 3269 fp.kP  
 

54. Which are the two major wheat producing states of India? 
a. Uttar Pradesh, Bihar   b. Uttar Pradesh, West Bengal 
c. Uttar Pradesh, Uttarakhand  d. Uttar Pradesh, Haryana 
NfhJik cw;gj;jpapy; Kjd;ikahf tpsq;Fk; ,U khepyq;fs; ahit? 
a. cj;jpugpuNjrk;> gPfhh;   b. cj;jpugpuNjrk;> Nkw;F tq;fk;  
c. cj;jpugpuNjrk;> cj;jufhz;;l;  d. cj;jpugpuNjrk;> `hpahdh  
 

55. Choose the wrongly matched pair among the following about the agricultural seasons of India 
a. Harvest period of Kharif  - November 
b. Sowing period of Rabi  - March 
c. Zaid Crops   - Vegetables 
d. Harvest period of Zaid  - June 
,e;jpa Ntshz;ikapd; gUtfhyq;fisg; gw;wpa jtwhd nghUj;jj;ij Njh;e;njLf. 
a. fhhp/g; -,d; mWtil fhyk;  - etk;gh;  
b. uhgp-,d; tpijf;Fk; fhyk;  - khh;r;  
c. iraj; gaph;fs;   - fha;fwpfs;  
d. iraj;-,d; mWtil fhyk; - [Pd;  
 

56. In India, first hydroelectricity power station was started in 
a. Shimoga, 1897 b. Darjeeling, 1897  c. Bilaspur, 1893 d. Sambalpur, 1893 
,e;jpahtpd; Kjd; ePh;kpd; epiyak; vq;F epWtg;gl;lJ? 
a. rpNkhfh> 1897 b. lhh;[ypq;> 1897  c. gpyh];G+h;> 1893 d. rk;gy;G+h;> 1893 
 

57. The mountain which lie parallel to the direction of the Southwest Monsoon wind is 
a. Aravali  b. Satpura  c. Vindhya  d. Maikala  
ve;j kiyj;njhlh; njd;Nkw;F gUtfhw;W tPRk; jpirf;F ,izahf cs;sJ? 
a. Muty;yp  b. rhj;G+uh  c. tpe;jpa   d. ikf;fhyh  

 
58. Choose the wrongly matched pair regarding the districts of Tamilnadu 

a. Lowest population   - Perambalur 
b. Highest sex ratio   - Nilgiris 
c. Least Sex ratio   - Cuddalore 
d. Least Literacy rate   - Dharmapuri 
jkpof khtl;lq;fisg; nghUj;J jtwhfg; nghUe;jp cs;sij Njh;e;njLf. 
a. kpff; Fiwe;j kf;fs; njhif  - nguk;gY}h;  
b. mjpf ghypd tpfpjk;  - J}j;Jf;Fb 
c. kpff; Fiwe;j ghypd tpfpjk;  - flY}h;  
d. kpff; Fiwe;j fy;tpawpT   - jUkGhp  
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59. Match the following 
Disaster   Agencies 
A. Land slides   1. Central water commission 
B. Avalanches   2. Defence Research and Development Organisation (DRDO) 
C. Earthquake   3. Geological Survey of India 
D. Flood   4. Indian Meteorological Department (IMD) 
A B C D 
a. 3 2 4 1 
b. 2 3 4 1 
c. 3 4 2 1 
d. 1 2 3 4 
nghUj;Jf:  
Nghplh;    Jiwfs; 
A. epyr;rhpT    1. kj;jpa ePh;f;FO 
B. gdpg;ghiw tPo;r;rp  2. ghJfhg;G Muha;;r;rp kw;Wk; Kd;Ndw;w epWtdk; 
C. epyeLf;fk;   3. ,e;jpa Gtp Ma;T ikak;  
D. nts;sk;   4. ,e;jpa thdpiy Muha;r;rp epiyak;  

A B C D 
a. 3 2 4 1 
b. 2 3 4 1 
c. 3 4 2 1 
d. 1 2 3 4 
 

60. For treating which disease, quinine (a drug) is extracted from cinchona (a forest product)? 
a. Malaria  b. Pneumonia  c. Typhoid  d. Hepatitis 
ve;j Nehia fl;Lg;gLj;j> rpd;Nfhdh kuj;jpypUe;J Fidd; vd;w kUe;Jg; nghUs; jahhpf;fg;gLfpwJ? 
a. kNyhpah  b. epNkhdpah  c. il/gha;L  d. n`g;gbl;b]; 
 

61. The month of Cyclonic rainfall in Tamilnadu is 
a. October  b. November  c. September  d. December 
jkpo; ehl;bw;F ve;j khjk; #whtsp kiog;nghopT khjkhFk;? 
a. mf;Nlhgh;  b. etk;gh;  c. nrg;lk;gh;  d. brk;gh;  
 

62. Choose the incorrectly matched pair 
a. Chitteri hills  - Salem District 
b. Pachaimalai  - Thiruchirapalli District 
c. Elagiri hills  - Vellore District 
d. Kalvarayan  - Dharmapuri District 
jtwhd ,iziaf; fhz;f 
a. rpj;Njhp kiy   - Nryk; khtl;lk;  
b. gr;ir kiy  - jpUr;rpuhg;gs;sp khtl;lk;  
c. Vyfphp kiy  - NtY}h; khtl;lk;  
d. fy;tuhad; kiy   - jUkGhp khtl;lk;  
 

63. Longitude extend of Tamilnadu is 
a. 8°4’ East and 13°35’ East   b. 78°16’ East and 82°10’ East 
c. 76°18’ East and 80°20’ East   d. 74°16’ East and 82°60’ East 
jkpo;ehl;bd; jPHf;fk; ePl;bg;G   
a. 8°4’ fpof;F kw;Wk; 13°35’ fpof;F  b. 78°16’ fpof;F kw;Wk; 82°10’ fpof;F 

c. 76°18’ fpof;F kw;Wk; 80°20’ fpof;F  d. 74°16’ fpof;F kw;Wk; 82°60’ fpof;F  
 

64. Which country is the largest user of nuclear power? 
a. USA   b. Japan  c. France  d. North Korea 
mZrf;jp vhpnghUis mjpfstpy; gad;gLj;Jk; ehL vJ? 
a. mnkhpf;fh   b. [g;ghd;   c. gpuhd;R   d. tl nfhhpah  
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65. The approximate distance between the moon and earth is 
a. 3,62,201 km  b. 3,24,801 km  c. 3,84,401 km  d. 3,76,501 km 
G+kpf;Fk; re;jpuDf;Fk; ,ilNa cs;s ruhrhp njhiyT  
a. 3,62,201 fp.kP  b. 3,24,801 fp.kP  c. 3,84,401 fp.kP  d. 3,76,501 fp.kP 
 

66. Among the following, which is not a cold current? 
a. Labrador Current  b. Benguela Current 
c. Brazilian Current  d. Californian Current 
fPo;fz;ltw;Ws;> vJ Fsph; ePNuhl;lk; ,y;iy? 
a. Nyg;ulhh; ePNuhl;lk;  b. ngq;Fyh ePNuhl;lk;  
c. gpNurpypad; ePNuhl;lk; d. fypNghh;dpah ePNuhl;lk;  
 

67. Which of the following is not a factor for the generation of Ocean Currents? 
a. Winds and Atmospheric Pressure 
b. Ocean Depth  
c. Coriolis force  
d. Density of Ocean Water 
fPo;fz;ltw;Ws;> vJ Nguhopfspy; cUthFk; ePNuhl;lq;fis ghjpf;fhj fhuzp MFk;. 
a. fhw;W kw;Wk; tspkz;ly mOj;jk;  
b. Nguhopapd; Mok;  
c. nfhhpahyp]p]; tpir  
d. Nguhop ePhpd; mlh;j;jp  
 

68. In which layer of atmosphere, radio waves are reflected back to the earth’s surface which are useful 
for modern communication? 
a. Exosphere  b. Ionosphere  c. Stratosphere  d. Troposphere 
tspkz;lyj;jpd; ve;j mLf;F etPd njhiy njhlh;gpw;F kpfTk; cjTk; thndhyp miyfis G+kpf;F 
jpUg;gp mDg;GfpwJ? 
a. ntspaLf;F  b. madpaLf;F  c. gilaLf;F  d. mbaLf;F  

 
69. The Indian Subcontinent was originally part of a huge mass called 

a. Jurassic land mass   b. Aryavarta 
c. Indiana    d. Gondwana Continent  
,e;jpa Jizf;fz;lk; Mjpapy; ngUk; kf;fs; jpus; nfhz;l ,jd; xU gFjpahf ,Ue;jJ 
a. [Puhrpf; epyg;gFjp  b. Mhpath;j;jk;  
c. ,e;jpahdh   d. Nfhz;Lthdh ngU epyg;gFjp  

 
70. Which one of the following factors is responsible for the change in the regular direction of the ocean 

currents in the Indian Ocean? 
a. Indian Ocean is ‘half an ocean’ 
b. Indian Ocean has Monsoon Drift  
c. Indian Ocean is a land-locked ocean  
d. Indian Ocean has greater variation in salinity 
,e;jpag; ngUq;flypy; cUthFk; fly; ePNuhl;lj;jpd; tof;fkhd jpirapy; Vw;gLk; khw;wj;jpw;F fhuzk;  
a. ,e;jpag; ngUq;fly; ‘ghjp ngUq;fly;’  
b. ,e;jpag; ngUq;fly; gUtfhy ePNuhl;lq;fs;  
c. ,e;jpag; ngUq;fly; epyq;fshy; #og;gl;lJ 
d. ,e;jpag; ngUq;flypd; cg;Gj;jd;ik mjpf khWghL cilaJ 

 
71. Match the following 

A. Pearl Fishing   1. Pune 
B. Automobiles   2. Tuticorin  
C. Ship-building   3. Pinjore 
D. Engineering goods  4. Marmagao 
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A B C D 
a. 2 1 4 3 
b. 2 1 3 4  
c. 1 2 4 3  
d. 1 2 3 4 
nghUj;Jf  
A. Kj;Jf;Fspj;jy;   1. GNd  
B. jhdpaq;fp thfdq;fs;  2. J}j;Jf;Fb  
C. fg;gy; fl;Lk; jsk;  3. gpQ;Nrhh; 
D. nghwpapay; nghUl;fs;  4. kh;kNfhth  

A B C D 
a. 2 1 4 3  
b. 2 1 3 4  
c. 1 2 4 3  
d. 1 2 3 4 

 
72. Choose the correct statement 

1. India’s first Marine Wildlife Sanctuary – Gulf of Kutch  
2. India’s first Marine National Park – Gulf of Kutch 
a. 1 only correct  b. 2 only correct 
c. Both are correct  d. None of these 
rhpahd $w;iwf; fhz;f 
1. ,e;jpahtpd; Kjy; fly; tdtpyq;F ruzhyak; - fl;r; tisFlh 
2. ,e;jpahtpd; Kjy; fly; Njrpa g+q;fh – fl;r; tisFlh 
a. 1 kl;Lk; rhp   b. 2 kl;Lk; rhp 
c. ,uz;Lk; rhp   d. vJTkpy;iy 
 

73. The most recent Epoch among the following is 
a. Pleistocene      b. Miocene  c. Holocene                   d. Eocene 
fPo;f;fz;ltw;Ws; kpf mz;ikf;fhy Gtpf;fhyg; gphpT 
a. gpiy];Nlh]Pd;  b. ikNah]Pd;  c. N`hNyh]Pd;  d. ,Nah]Pd; 

 
74. Identify the one which is a volcanic – crater lake in India 

a. Chilka lake in Odisha   b. Dal lake in Srinagar 
c. Kolleru lake in Andhra Pradesh  d. Lonarlake in Maharashtra 
nfhLf;fg;gl;Ls;s ,e;jpa VhpfSs; vhpkiytha; Vhpia milahsk; fhz;f. 
a. xbrhtpy; cs;s rpy;fh Vhp     b. =efhpy; cs;s lhy; Vhp  
c.Me;jpugpuNjrj;jpy; cs;s nfhy;NyW Vhp  d. kfhuh~;uhtpy; cs;s Nyhehh; Vhp 

 
75. Aliabet oil field of India is located in  

a. Gulf of Kutch  b. Gulf of Khambhat  c. Vadodara  d. Surat 
,e;jpahtpd; ‘mypahgl; vz;nza; tay;;’ mike;Js;s ,lk; 
a. fl;r; tisFlh b. fhk;gj; tisFlh  c. tNjhjuh  d. #uj; 

 
76. A solid sphere is rotating freely about its symmetry axis in free space. The radius of the sphere is 

increased keeping its mass same. Which of the following physical quantities would remain constant 
for the sphere? 
a. Moment of inertia  b. Rotational kinetic energy 
c. Angular Velocity  d. Angular momentum 
xU jplf;NfhskhdJ mjd; rkr;rPh; mr;irg; gw;wp fl;by;yh ntspapy; jd;dpr;irahf Roy;fpwJ. mjd; 
epiwia khw;whky; mjd; Muk; kl;Lk; mjpfhpf;fg;gLfpwJ. vdpy;> jplf;Nfhsj;ijg; nghUj;jkl;by; 
gpd;tUtdtw;wpy; ve;j ,aw;gpay; fhuzpahdJ khwhky; ,Uf;Fk;? 
a. jpUg;Gj;jpwd;  b. Row;rp ,af;f Mw;wy; 
c. Nfhz jpirNtfk;  d. Nfhz ce;jk; 
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77. Which of the following oxides is most acidic in nature? 
a. BeO  b. BaO  c. MgO  d. CaO 
fPo;f;fz;l Mf;irLfspy; vJ ,aw;ifahf mjpf mkpyj;jd;ikAilaJ? 
a. BeO  b. BaO  c. MgO  d. CaO 
 

78. A ‘new’ variety of rice was patented by a foreign company, though such varieties have been present 
in India for a long time. This is related to 
a. Sharbati Sonora  b. Lerma Rojo  c. Co-667  d. Basmati 
xU Gjpa mhprp ufk; mJ ePz;l fhyk; ,e;jpahtpy; cs;sNghJk; xU ntspehl;L epWtdj;jhy; 
fhg;Ghpik ngwg;gl;Ls;sJ. mJ 
a. rh;gjp NrhNduh  b. nyh;kh Nuh[h c. Co-667  d. ghRkjp 
 

79. Double fertilization is 
a. Fusion of one male gamete with two polar nuclei 
b. Fusion of two male gametes with one egg 
c. Fusion of two male gametes of a pollen tube with two different eggs 
d. Syngamy and triple fusion 
,ul;il fUTWjy; vd;gj 

a. xU Mz;l ,dr;nry;> ,U JUt cl;fUf;fSld; ,iztJ 
b. ,U Mz; ,dr;nry;fs; Xh; mz;lj;Jld; ,iztJ 
c. kfue;jf; Foypd; ,U Mz; ,dr;nry;fs; ,U NtW mz;lq;fSld; ,iztJ 
d. cz;ikahd fUTWjy; (rpd;Nfkp) kw;Wk; %tpizT 

 
80. In India, the organisation responsible for assessing the safety of introducing genetically modified 

organisms for public use is 
a. Conucil for Scientific and Industrial Research (CSIR) 
b. Research Committee on Genetic Manipulation (RCGM) 
c. Indian Council of Medical Research (ICMR) 
d. Genetic Engineering Appraisal Committee (GEAC) 
,e;jpahtpy; kuGkhw;wk; nra;ag;gl;l caphpdq;fspd; ghJfhg;ig kjpg;gPL nra;J nghJkf;fspd; 
gad;ghl;bw;F mwpKfk; nra;a nghWg;G tfpf;Fk; epWtdk; 
a. mwptpay; kw;Wk; njhopw;rhh; Ma;Tf;fhd FOkk; (CSIR) 
b. kuGg;nghUs; ifahStjw;fhd Muha;r;rpf; FO (RCGM) 
c. ,e;jpahtpd; kUj;Jt Muha;r;rpf; FOkk; (ICMR) 
d. kuGg; nghwpapay; kjpg;gPl;Lf; FO (GEAC) 

 
81. Which of the following is a secondary pollutant? 

a. CO2  b. SO2  c. CO  d. O3 
fPo;f;fz;ltw;Ws; ,uz;lhk; epiy khR vJ? 
a. CO2  b. SO2  c. CO  d. O3 
 

82. In stratosphere, which of the following element acts as a catalyst in degradation of ozone an release 
of molecular oxygen? 
a. Cl  b. Fe  c. Carbon  d. Oxygen 
fPo;f;fz;l jdpkq;fspy; ];l;Nul;Nlh];gpahpy; XNrhd; rpijg;gpy; tpida+f;fpahf nray;gl;L %yf;$W 
Mf;rp[d; ntspg;gl fhuzkhtJ vJ? 
a. Cl  b. Fe  c. fhh;gd;  d. Mf;rp[d; 
 

83. Match the following 
A. Eutrophication  1. UV-B radiation 
B. Sanitary landfill  2. Deforestation 
C. Snow Blindness  3. Nutrient 
D. Jhum cultivation  4. Waste disposal 
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 A B C D 
a. 1 3 4 2 
b. 3 4 1 2 
c. 2 1 3 4 
d. 1 2 4 3 
nghUj;Jf 
A. a+l;LNuh/gpf;Nf~d;    1. UV-B fjph;tPr;R 
B. jplf;fopT nfhz;L jho;Tepyj;ij epug;Gjy; 2. fhlopj;jy; 
C. gdp FUL      3. Cl;lg;nghUs; kpifik 
D. [{k; gaphpLjy;     4. fopT Nkyhz;ik 
 A B C D 
a. 1 3 4 2 
b. 3 4 1 2 
c. 2 1 3 4 
d. 1 2 4 3 
 

84. Which part of poppy plant is used to obtain the drug “Simack”? 
a. Latex  b. Roots  c. Flowers  d. Leaves 
ghg;gp nrbapd; ve;j gFjp ‘];Nkf;’ vd;w Nghij kUe;ij jahhpf;f gad;gLfpwJ? 
a. Nyl;lf;];  b. Nth;fs;  c. kyh;fs;  d. ,iyfs; 
 

85. Conversion of milk to curd improves its nutritional value by increasing the amount of  
a. Vitamin A  b. Vitamin B12  c. Vitamin D  d. Vitamin E 
ghy; japuhf khWk;NghJ mjd; Cl;lr;rj;J kjpg;G ve;j itl;lkpd; msT cah;tjhy; mjpfhpf;fpwJ? 
a. itl;lkpd; A b. itl;lkpd; B12 c. itl;lkpd; D d. itl;lkpd; E 
 

86. Hormones secreted by the placenta to maintain pregnancy are 
a. hCG, hPL, estrogens, relaxin, oxytocin 
b. hCG, hPL, progestogens, estrogens 
c. hCG, hPL, progestogens, prolactin 
d. hCG, progestogens, estrogens, glucocorticoids 
fUTw;wiy guhkhpf;f gpshrd;lhthy; Ruf;fg;gLk; `hh;Nkhd;fs; ahit? 
a. hCG, hPL, <];bu[d;> hpyhf;rpd;> Mf;rpNlhrpd; 
b. hCG, hPL, GNuhn[];l;Nlh[d;> <];bu[d; 
c. hCG, hPL, GNuhn[];l;Nlh[d;> GNuhyhf;bd; 
d. hCG, gNuhn[];l;Nlh[d;> <];bu[d;. FSf;Nfhfhh;l;bfha;Lfs; 

  
87. Which of the following is an amino acid derive hormone? 

a. Ecdysone  b. Estradiol  c. Epinephrine  d. Estriol 
mkpNdh mkpyj;jpypUe;J nfhzug;gl;l `hh;Nkhd; vJ? 
a. vf;ilNrhd;  b. <];builNahy; c. vg;gpne/g;hPd; d. <];biuNahy; 
 

88. Which of the following is an occupations respiratory disorder? 
a. Silicosis  b. Botulism  c. Anthracis  d. Emphysema 
gpd;tUtdtw;Ws; vJ njhopy; njhlh;ghd Rthr NfhshW? 
a. rpypNfhrp];  b. ghl;Lyprk;  c. Me;jpuhrp];  d. v/kpgprPkh 
 

89. Which of the following organisms are known as chief producers in the oceans? 
a. Diatoms  b. Cyanobacteria  c. Dinoflagellates  d. Euglenoids 
ngUq;fly;fspy; Kf;fpa cw;gj;jpahsuhf fUjg;gLk; caphpfs; vJ? 
a. lal;lk;fs;    b. raNdhghf;Bhpahf;fs;  
c. ilNdh/gpshn[y;Nyl;Lfs;  d. a+f;spdha;Lfs; 
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90. Which of the following is not correct about carbon monoxide? 
a. It forms carboxyhaemoglobin 
b. It reduces oxygen carrying ability of blood 
c. The carboxyhaemoglobin (haemoglobin bound to CO) is less stable than oxyhaemoglobin 
d. It is produced due to incomplete combustion 
fPo;f;fz;ltw;wpy; fhh;gd; Nkhdhf;irL Fwpj;J vJ rhpaw;wJ? 
a. mJ fhh;ghf;rp P̀NkhFNshgpid cUthf;Fk; 
b. mJ ,uj;jj;jpy; Mf;rp[d; flj;Jk; jpwid Fiwf;fpd;wJ 
c. fhh;ghf;rp P̀NkhFNshgpd; ( P̀NkhFNshgpd; CO cld; ,ize;j mikg;G) Mf;rp 

P̀NkhFNshgpidf; fhl;bYk; Fiwe;j epiyg;Gj;jd;ik nfhz;lJ 
d. KOikailahj vhpjypdhy; cw;gj;jpahfpd;wJ 

 
91. Which of the following is a basic amino acid? 

a. Serine  b. Alanine  c. Throsine  d. Lysine 
fPo;f;fz;ltw;wpy; ve;j xd;W fhu mkpNdh mkpyk; MFk;? 
a. rpiud;  b. myidd;  c. ilNuhrpd;  d. iyrpd; 
 

92. Match the following 
Oxide   Nature 
A. CO   1. Basic 
B. BaO   2. Neutral 
C. Al2O3  3. Acidic 
D. Cl2O7  4. Amphoteric 
 A B C D 
a. 1 2 3 4 
b. 2 1 4 3 
c. 3 4 1 2 
d. 4 3 2 1 
nghUj;Jf 
Mf;irL  jd;ik 
Oxide   Nature 
A. CO   1. fhu 
B. BaO   2. eLepiy 
C. Al2O3  3. mkpy 
D. Cl2O7  4. <hpay;Gs;s 
 A B C D 
a. 1 2 3 4 
b. 2 1 4 3 
c. 3 4 1 2 
d. 4 3 2 1 
 

93. Match the following dieseases with the causative organism  
A. Typhoid   1. Wuchereria 
B. Pneumonia   2. Plasmodium 
C. Filariasis   3. Salmonella 
D. Malaria   4. Haemophilus 
 A B C D 
a. 1 3 2 4 
b. 3 4 1 2 
c. 2 1 3 4 
d. 4 1 2 3 
Neha;fs; kw;Wk; Neha;f;fhuzpfis nghUj;Jf 
A. il/gha;L   1. Cnrhphpah 
B. epNkhdpah   2. gpsh];Nkhbak; 
C. igyhhpah   3. rhy;Nkhndy;yh 
D. kNyhpah   4. P̀Nkh/gpy;y]; 
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 A B C D 
a. 1 3 2 4 
b. 3 4 1 2 
c. 2 1 3 4 
d. 4 1 2 3 
 

94. Bt cotton variety that was developed by the introduction of toxin gene of Bacillus thuringiensis (Bt) is 
resistant to: 
a. Insect pests  b. Fungal diseases c. Plant nematodes  d. Insect predators 
Ngrpy;y]; J}hpd;[pad;rp];]pd; er;R [Pid cl;nrYj;jp cUthf;fg;gl;l Bt gQ;R tif vjw;F vjph;g;G? 
a. g+r;rp jPq;Faphpfs; b. g+Q;ir Neha;fs; c. jhtu nekl;NlhLfs; d. g+r;rp nfhd;W jpd;dpfs; 
 

95. According to Robert May, the global species diversity is about: 
a. 1.5 million  b. 20 million  c. 50 million  d. 7 million 
uhgh;l; Nk - ,d; fUj;jpd;gb Gtpapd; rpw;wpdg; gd;kak; Rkhh; : 
a. 1.5 kpy;ypad; b. 20 kpy;ypad; c. 50 kpy;ypad; d. 7 kpy;ypad; 
 

96. Which of the following hormone levels will cause release of ovum (ovulation) from the graffian 
follicle? 
a. High concentration of Estrogen b. High concentration of progesterone 
c. Low concentration of LH  d. Low concentration of FSH 
fpuh/gpad; /ghypf;fpspypUe;J mz;l nry; ntspahjYf;F `hh;Nkhdpd; ve;j epiy cjTfpwJ? 
a. <];bu[dpd; cah; mlh;T  b. GNuhn[];buhdpd; cah; mlh;T 
c. LH - ,d; Fiw mlh;T  d. FSH - ,d; Fiw mlh;T 

 
97. Which of the following regions of the globe exhibits highest species diversity? 

a. Westen Ghats of India b. Madagascar  c. Himalayas   d. Amazon forests 
fPo;f;fz;ltw;Ws; g+kpapd; vg;gFjpfspy; mjpf mstpy; rpw;wpdg; gd;kak; fhzg;gLfpwJ? 
a. ,;e;jpahtpd; Nkw;Fj;njhlh;;r;rp kiy b. klfh];fh; 
c. ,kakiy     d. mNkrhd; fhLfs; 
 

98. Which of the following is the most abundant protein in the animals? 
a. Haemoglobin  b. Collagen  c. Lectin  d. Insulin 
tpyq;Ffspy; mjpf msT fhzg;gLk; Gujk; vJ? 
a. P̀NkhFNshgpd;  b. nfhy;yh[d;  c. nyf;bd;  d. ,d;Rypd; 
 

99. Which of the following is not an attribute of a population? 
a. Sex ratio  b. Natality  c. Mortality  d. Species interaction 
fPo;f;fz;ltw;Ws; Xh; ,dj;njhifAld; njhlh;gpy;yhjJ vJ? 
a. ghy; tpfpjk;  b. gpwg;G tPjk;  c. ,wg;G tPjk;  d. rpw;wpdq;fspd; cwT Kiw 
 

100. Strobili or cones are found in: 
a. Salvinia  b. Pteris c. Marchantia  d. Equisetum 
];l;Nuhigy];fs; my;yJ $k;Gfs; ,tw;wpy; fhzg;gLfpd;wd 
a. rhy;tPdpah  b. nlhp]; c. khh;fhd;~pah d. <f;Ftprpl;lk; 
 

101. Match the following 
A. Pituitary gland  1. Grave’s disease 
B. Thyroid gland  2. Diabetes mellitus 
C. Adrenal gland  3. Diabetes insipidus 
D. Pancreas   4. Addison’s disease 
 A B C D 
a. 4 3 1 2 
b.  3 2 1 4 
c. 3 1 4 2 
d. 2 1 4 3 
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nghUj;Jf 
A. gpl;a+l;lhp Rug;gp  1. fpNutp]; Neha; 
B. ijuha;L Rug;gp  2. ilahgpl;b]; nky;ypl;l]; 
C. ml;hPdy; Rug;gp  3. ilahgpl;b]; ,d;rpgpl]; 
D. fizak;   4. ml;brd; Neha; 
 A B C D 
a. 4 3 1 2 
b.  3 2 1 4 
c. 3 1 4 2 
d. 2 1 4 3 
  

102. Select the correct match 
a. Haemophilia  - Y linked 
b. Phenylketonuria  - Autosomal dominant trait 
c. Sickle cell anaemia  - Autosomal chromosome – 11 
d. Thalassemia  - X linked 
rhpahf nghUe;jpAs;sJ vJ? 
a. P̀Nkh/gPypah  - Y gpizg;G 
b. /gPidapy;   - cly; FNuhNkhNrhkpy; cs;s x]fpa gz;G 
c. mhpths; ,uj;jr;Nrhif - cly; FNuhNkhNrhkpy; cs;s xLq;fpa gz;G> FNuhNkhNrhk;-11 
d. jyhrPkpah   - X gpizg;G 
 

103. Select the option including all sexually transmitted diseases 
a. Gonorrhoea, Syphilis, Genital herpes b. Gonorrhoea, Malaria, Genital herpes 
c. AIDS, Malaria, Filaria   d. Cancer, AIDS, Syphilis 
KOtJk; ghy; tpid Neha;fs; mlq;fpaJ vJ? 

a. nfhNdhhpah> rp/gpyp];> n[dpl;ly; n`h;gp]; 
b. nfhNdhhpah> kNyhpah> n[dpl;ly; n`h;gp]; 
c. va;l;];> kNyhpah> /igNyhpah 
d. Gw;WNeha;> va;l;];> rp/gpyp]; 

 
104. When magnetic field is applied to the atom, each of the spectral line split into several lines. This effect 

is 
 a. Stark effect  b. Zeeman effect c. Quadratic Stark effect d. None of the above 

mZtpDs; fhe;jg;Gyk; nray;gLj;Jk;NghJ> epwkhiy thpfs; gy thpfshf gphpAk; epfo;T  
 a. ];lhh;f; tpisT  b. rPkd; tpisT  c. fhy;gFjp ];lhh;f; tpisT  d. vJTkpy;iy  
 
105. Electromagnetic waves with longest wavelengths are called 
 a. radiowaves  b. microwaves   c. IR rays   d. UV rays 

mjpf miyePsk; cila kpd;fhe;j miyfs; ______ vd miof;fg;gLfpwJ 
 a. NubNah miyfs; b. ikf;Nuh miyfs;  c. IR miyfs;   d. UV miyfs;  
 
106. In the fast breeder test reactor (FBTR) at Kalpakkam, which mixture is used as fuel? 

a. Carbides of Thorium, Plutonium  b. Carbides of Thorium, Uranium 
c. Carbides of Uranium, Plutonium  d. None of the above 
fy;ghf;fj;jpYs;s Ntf cw;gj;jp Nrhjid mZf;fU ciyapy; (FBTR) ve;jf;fyit vhpnghUshf 
gad;gLfpwJ? 
a. Njhhpak; fhh;igLfs;> GSl;Nlhdpak; b. Njhhpak; fhh;igLfs;> ANudpak; 
c. ANudpak; fhh;igLfs;> GSl;Nlhdpak; d. vJTkpy;iy  

 
107. 1 Astronomical unit equal to 
 a. 1.496 × 108 m b. 1.496 × 1012 m  c. 1.496 × 1012 km d. 1.496 × 1011 m 
 xU thdpay; myF vjw;F rkk; 
 a. 1.496 × 108 m b. 1.496 × 1012 m  c. 1.496 × 1012 km d. 1.496 × 1011 m 
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108. Which of the following is a non-conservative force? 
 a. force due to gravity   b. spring force 
 c. elastic force    d. frictional force 
 khw;wkilAk; tpir vJ? 
 a. <h;g;gpay; tpir   b. RUs;tpy; tpir   
 c. kPl;rp tpir    d. cuha;T tpir 
 
109. A man is sitting on a rotating stool with his arms outstretched. Suddenly he folds his arm. The angular 

velocity 
 a. decreases       b. increases  c. becomes zero  d. remains constant 

iffs; ePl;lg;gl;l epiyapy;> RoYk; ehw;fhypapd; kPJ mkh;e;jpUf;Fk; xUth;> jpBnud iffis klf;Fk; 
NghJ Nfhz jpirNtfk; 

 a. FiwAk;   b. mjpfkhFk;  c. RopahFk;  d. khwhky; ,Uf;Fk; 
 
110. The pH concept was introduced in 1909 by       
 a. Fritz Haber  b. Sorensen  c. Roald Hoffmann d. Dorothy Hodgkin 
 pH Kiwia 1909y; mwpKfg;gLj;jpath; 
 a. /gphpl;b]; `hgh; b. Nrhud;rd;  c. Nuhy;L `h/g;Nkd; d. nlhNuhj;jp `hl;[;fpd;  
 
111. Glucose belongs to  

a. aldohexose    b. aldotetroses  c. aldotrioses  d. aldopentoses 
FSf;Nfh]; vd;gJ  
a. My;Nlhn`f;Nrh];  b. M];Nlh];BNuh];]; 
c. My;Nlhl;iuNah];] d. My;Nlhngd;Nlhr];  

 
112. Which among the following is known as ‘aquatortis’ by alchemists?  
 a. Heavy water b. Nitric acid  c. Hydro fluoric acid  d. Acetic acid 
 urthjpfshy; ‘mFth lhh;b];’ vdg;gLtJ? 
 a. fd ePh;  b. iel;hpf; mkpyk; c. i`l;Nuh G@hpf; mkpyk; d. mrpl;bf; mkpyk; 
  
113. Match the following:  
 Classification of Ores Ore 
 A. Oxide Ore   1. Malachite     
 B. Sulphide Ore  2. Zincite     
 C. Carbonate Ore  3. Barytes 
 D. Sulphate Ore  4. Galena 
  A B C D 

a. 1 2 3 4 
b. 4 2 1 3 
c.  2 4 1 3 
d.  2 4 3 1 

 nghUj;Jf: 
 jhJ tif    jhJf;fs;  
 A. Mf;irL jhJ  1. khyifl; 
 B. ry;igL jhJ  2. [pq;irl;  
 C. fhh;gNdl; jhJ  3. ghiul;]; 
 D. ry;Ngl; jhJ  4. fyPdh  

A B C D 
a. 1 2 3 4 
b. 4 2 1 3 
c.  2 4 1 3 
d.  2 4 3 1 
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114. Reduction involves  
a. Loss of one (or) more electrons   b. Gain of one (or) more electrons    
c. Increase in electro positivity  d. None of the above 
xLf;f tpid vd;gJ 
a. xd;W (m) Nkw;gl;l vyf;l;uhid ,og;gJ 
b. xd;W (m) Nkw;gl;l vyf;l;uhid ngWtJ 
c. Neh; kpd;D}l;lk; mjpfhpg;G  
d. vJTkpy;iy 

 
115. Among halogens ____ has the highest electronegativity  

a. Chlorine  b. Iodine  c. Bromine   d. Fluorine  
`hy[d;fspy; ______ mjpf vyf;l;uhd; fth; Mw;wy; kjpg;GilajhFk; 
a. FNshhpd;  b. mNahbd;  c. GNuhkpd;  d. G@hpd;  

 
116. Match the following 

A. Magnesite   1. CaSO4.2H2O 
B. Dolomite  2. MgCl2.KCl.6H2O 
C. Epsom salt  3. MgCO3 

D. Carnallite  4. MgCO3.CaCO3 

E. Gypsum  5. MgSO4.7H2O 
 A B C D E  
a. 3 4 5 2 1   
b. 5 4 3 2 1  
c. 1 3 2 4 5  
d. 2 3 1 4 5 
nghUj;Jf: 
A. nkf;dirl;  1. . CaSO4.2H2O  
B. Nlhyikl;  2. MgCl2.KCl.6H2O 
C. vg;rk; cg;G  3. MgCO3 

D. fhh;diyl;  4. MgCO3.CaCO3 

E. [pg;rk;   5. MgSO4.7H2O 
 A B C D E  
a. 3 4 5 2 1   
b. 5 4 3 2 1  
c. 1 3 2 4 5  
d. 2 3 1 4 5 

 
117. The element with atomic number 107 is called  

a. Unnilseptium b. Ununseptium c. Unnilennium d. None of these 
mZ vz; 107 nfhz;Ls;s jdpkk; _______ vdg;gLfpwJ 
a. cdpy; nrg;bak; b. cDd;nrg;bak; c. cdpypdpak;  d. ,it VJkpy;iy 

 
118. The compound used in pyrotechnics is 

a. Magnesium  b. Barium  c. Calcium  d. Beryllium 
kj;jhg;G njhopypy; gad;gLk; jdpkk; 
a. nkf;dPrpak;  b. Nghpak;  c. fhy;rpak;  d. nghpypak; 

 
119. Which department is celebrating its Golden Jublee? 

a. Department of Science of Technology b. Department of Space  
c. Department of Ocenography  d. Department of Environment 
ve;j Jiw jdJ nghd;tpoh Mz;il nfhz;lhLfpwJ? 
a. mwptpay; kw;Wk; njhopy;El;gk;  b. tpz;ntsp Jiw 
c. fly; Muha;r;rp Jiw   d. Rw;Wr;#oy; Jiw 
 
 



 

24 | Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 

 

120. Which article talks about Scientific Temper? 
a. 51A (e)  b. 51A (g)  c. 51A (h) d. 51A (d) 
ve;j rl;lf;$wpy; mwptpay; mZFKiw gw;wp Fwpg;gplg;gl;Ls;sJ? 
a. 51A (e)  b. 51A (g)  c. 51A (h) d. 51A (d) 
 

121. Who is called as Father of Scientific Method? 
a. Isac Newton b. Einstein   c. Galileo   d. Aristotle 
mwptpay; Kiwapd; je;ij vd miof;fg;gLgth;? 
a. Irf; epa+l;ld; b. Id;];Bd;  c. fypypNah  d. mhp];lhl;by; 

 
122. Palampur Declaration is related with 

a. Environment  b. Sustainable Development 
c. Scientific Temper  d. Education for all 
ghyk;g+h; gpufldk; vjDld; njhlh;GilaJ? 
a. Rw;Wr;#oy;   b. epiyj;j ePbj;j tsh;r;rp 
c. mwptpay; mZFKiw d. midtUf;Fk; fy;tp 

 
123. The term ‘Science’ derives from the Latin word “Scientia” which means _______ 

a. Technology  b. Research  c. Knowledge  d. Enquiry 
,yj;jpd; nrhy;yhd ‘Scientia’ tpypUe;J mwptpay; vd;w nrhy; cUthdJ. ,jw;fhd nghUs; ________ 
a. njhopy;El;gk; b. Muha;r;rp  c. mwpT  d. tprhuiz 
 

124. Which of the following is not and example of Rote Learning? 
a. Cramming   b. Spelling Drills 
c. Tables   d. None of these 
gpd;tUtdtw;wpy; Ghpjy; ,d;wp gbg;gjw;F cjhuzky;yhjJ vJ? 
a. kddk; nra;jy;  b. nrhw; gapw;rp 
c. tha;ghL   d. ,it VJkpy;iy 
 

125. Choose the incorrect statement? 
1. Scientific Policy Resolution – 1958 
2. Technology Policy Statement - 1983 
3. Science and Technology Policy – 2003 
4. Science Technology Innovation Policy – 2019 

jtwhd $w;iwf; fz;lwpf 
a. mwptpay; nfhs;iff;fhd jPh;khdk; - 1958 
b. njhopy;El;g nfhs;iff;fhd mwpf;if – 1983 
c. mwptpay; njhopy;El;g nfhs;if – 2003 
d. mwptpay; njhopy;El;g GJikf; nfhs;if – 2019 

 
126. Sohan can do a piece of work in 16 days and Rohan in 24 days. They take the help of Mohan and three 

together finish the work in 6 days. If total remuneration for the work is Rs.80/- then amount each will 
receive in proposition to the work done by each is 
a. Rs.30, Rs.20 and Rs.30  b. Rs.30, Rs.30 and Rs.20 
c. Rs.40, Rs.20, and Rs.20  d. Rs.20, Rs.30, and Rs.30 
Nrh`d; vd;gth; xU Ntiyia 16 ehl;fspYk; mNj Ntiyia Nuh`d; 24 ehl;fspYk; Kbf;fpd;wdh;. 
,g;nghOJ ,t;tpUtUld; NkhfDk; Nrh;e;J ,Nj Ntiyia Kbf;f 6 ehl;fs; MfpwJ. ,e;j nkhj;j 
Ntiyapd; $yp &.80 vdpy; xt;nthUtUk; ngw;w njhif vt;tsT? 
a. Rs.30, Rs.20 and Rs.30  b. Rs.30, Rs.30 and Rs.20 
c. Rs.40, Rs.20, and Rs.20  d. Rs.20, Rs.30, and Rs.30 
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127. Sneha’s age is 
1

6
th of her father’s age. Sneha’s father’s age will be twice of Vimal’s age after 10 years. 

If Vimal’s eighth birthday was celebrated two years before, then what is Sneha’s present age? 

a. 
2

6
3

 years   b. 24 years  c. 30 years  d. 5 years 

rpNdfhtpd; taJ mtuJ je;ijapd; tajpy; 
1

6
 klq;fhFk;. rpNdfhtpDila je;ijapd; tajhdJ 

gj;J tUlq;fSf;F gpwF tpky; taijg;Nghy ,uz;L klq;F tajhFk;. tpkypd; taJ ,uz;L 
Mz;LfSf;F Kd;G 8 taJ vdpy;> rpNdfhtpd; jw;Nghija taJ vd;d? 

a. 
2

6
3

 Mz;Lfs;  b. 24 Mz;Lfs; c. 30 Mz;Lfs;  d. 5 Mz;Lfs; 

 
128. Two taps A and B can fill a tank in 10 hours and 15 hours respectively.  Both the taps are opened for 

4 hours and then B is turned off.  The time taken by A to fill the remaining tank is   
a. 12/5 hours  b. 13/10 hours c. 6 hours  d. 10/3 hours 
A> B vd;w ,uz;L Foha;fs; xU njhl;bapid KiwNa 10 kw;Wk; 15 kzpNeuj;jpy; epug;g ,aYk;. 
,uz;L Foha;fSk; 4 kzp Neuk; jpwe;J tplg;gl;L gpwF Foha; B milf;fg;gLfpwJ. njhl;bapd; 
vQ;rpa gFjpia epug;g Foha; A vLj;Jf; nfhs;Sk; NeukhdJ 
a. 12/5 hours  b. 13/10 hours c. 6 hours  d. 10/3 hours 

 
129. The number of lead shots each 3 mm in diameter that can be made from a cuboid of dimension 9cm 

x 11cm x 12cm is  
a. 7200  b. 8400   c. 72000  d. 84000  
9 nrkP x 11 nrkP x 12 nrkP gf;fq;fisf; nfhz;l xU fd nrt;tfj;jpypUe;J 3 kpkP tpl;lk; nfhz;l 
vj;jid <a Fz;Lfis cUthf;f KbAk;? 
a. 7200  b. 8400   c. 72000  d. 84000  

 
130. The smallest number when decreased by 11, is exactly divisible by 20, 28, 35, 105 is   

a. 341   b. 431  c. 541   d. 531 
xU Fwpg;gpl;l kpfr; rpwpa vz;zpy; ,Ue;J 11I fopj;j gpwF me;j vz; 20> 28> 35> 105 Mfpa 
vz;fshy; kpfr; rhpahf tFgLfpwJ vdpy;> me;j vz; vJ? 
a. 341   b. 431  c. 541   d. 531 

 
131. A boy had 85 currecny notes of Rs. 100 denomination and Rs. 50 denomination totalling Rs. 5000 in 

all.  What was the amount of Rs.50 denominations he had?  
a. Rs. 2250  b. Rs. 3500  c. Rs. 1500   d. Rs. 1250 
xU rpWtdplk; &.100 kw;Wk; &.50 kjpg;Gs;s Nehl;Lfs; 85 cs;sd. mtw;wpd; nkhj;j kjpg;G 5000 
vdpy; mtdplKs;s &.50 Nehl;Lfspd; njhif vt;tsT?   
a. Rs. 2250  b. Rs. 3500  c. Rs. 1500   d. Rs. 1250 

 

132. If 4÷3 = 6427, 8÷7 = 6449, 3÷1 = 271 then 6÷3 = ?  
a. 369   b. 2169  c. 21627  d. 2 
4÷3 = 6427, 8÷7 = 6449, 3÷1 = 271 vdpy; 6÷3 = ? 
a. 369   b. 2169  c. 21627  d. 2 

 

133. The radius of a wheel is 1.75 m. How many revolutions will it make in travelling 11 km?  
a. 10     b. 100   c. 1000   d. 10000 
1.75 kP Muk; nfhz;l xU rf;fuk; 11 fp.kP J}uj;ij flf;f vj;jid Rw;Wfs; Rw;w Ntz;Lk;? 
a. 10     b. 100   c. 1000   d. 10000 

 

134. A sum of ì 5000 amounts to ì 6050 after 2 years at compound interest, interest compounded annually.  
What is the rate of interest p. a? 
a. 5%   b. 9%  c. 10%  d. 11% 
&.5000 vd;w njhifahdJ> $l;Ltl;bapy; 2 Mz;Lfspy; &.6050 Mf khWfpwJ vdpy; Mz;L tl;btPjk; 
vt;tsT?  
a. 5%   b. 9%  c. 10%  d. 11% 



 

26 | Page APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 

 

135. What is the GCD of 6 (2x2 – 3x – 2), 8(4x2 + 4x +1) and 12 (2x2 +7x +3) ?  
a. 4(x+3)  b. 2(2x+1)  c. 8(2x+3)  d. 8(x+3) 
6 (2x2 – 3x – 2), 8(4x2 + 4x +1) kw;Wk; 12 (2x2 +7x +3) Mfpatw;wpd; kP.ngh.t vd;;d? 
a. 4(x+3)  b. 2(2x+1)  c. 8(2x+3)  d. 8(x+3) 

 

136. 4.59 1.8 3.6 5.4
 

  + 
 

1 1
y;  ghfk; - 

9 5
 d; kjpg;G 

 4.59 1.8 3.6 5.4of
 

  + 
 

1 1
  - 
9 5

 is 

 a. 4.685  b. 2.695  c. 3.259  d. 2.596 
 
137. The number 311311311311311311311 is :                                              

a. divisible by 3 but not by 11   b. divisible by 11 but not by 3 
c. divisible by both 3 and 11      d. neither divisible by 3 nor by 11 
311311311311311311311 vd;w vz; 
a. 3My; tFgLk; Mdhy; 11My; tFglhJ b. 11My; tFgLk; Mdhy; 3My; tFglhJ 
c. 3 kw;Wk; 11My; tFgLk;   d. 3 kw;Wk; 11My; tFglhJ 

 
138. A copper wire is bent in the shape of a square of area 81 cm2.  If the same wire is bent in the form of a 

semicircle, the radius (in cm) of the semicircle is 
a. 14 cm  b. 7 cm  c. 21 cm  d. 28 cm 
xU nrg;Gf; fk;gp 81 r.nrkP-I gug;gsthff; nfhz;l xU rJu tbtj;jpy; tisf;fg;gLfpwJ.  me;jf; 
fk;gp xU miu tl;l tbtj;jpy; tisf;fg;gLtjhf ,Ue;jhy;> me;j miu tl;lj;jpd; Muk; vj;jid 
nrkP? 
a. 14 cm  b. 7 cm  c. 21 cm  d. 28 cm 

 
139. An organisation plans to plant saplings in 25 streets in a town in such a way that one sapling for the 

first street, two for the second, four for the third, eight for the fourth street and so on. How many 
saplings are needed to complete the work? 

a. 242     b. 252 1−    c. 252   d. 242 1−  
xU njhz;L epWtdk; xU efuj;jpYs;s 25 tPjpfspy; kuf;fd;Wfis eLk;nghUl;L> Kjy; tPjpapy; xU 
kuf;fd;Wk;> ,uz;lhk; tPjpapy; ,U kuf;fd;Wfs;> %d;whk; tPjpapy; 4 kuf;fd;Wfs;> ehd;fhtJ tPjpapy; 
8 kuf;fd;Wfs; vd;w Kiwapy; eLtjw;F jpl;lkpLfpwJ. mt;Ntiyia Kbf;fj; Njitahd 
kuf;fd;Wfspd; vz;zpf;ifiaf; fhz;f 

a. 242     b. 252 1−    c. 252   d. 242 1−  
 
140. If A : B = 2 : 5, B : C = 4 : 7 and C : D = 3 : 8, then find out the ratio A : B : C : D? 
 a.   24 : 100 : 15 : 200                       b.   60 : 24 : 105 : 280 
 c.  280 : 105 : 24 : 60                        d.   24 : 60 : 105 : 280 

A : B = 2 : 5, B : C = 4 : 7 kw;Wk; C : D = 3 : 8, vdpy; A : B : C : D d; tpfpjk; fhz;f. 
 a.   24 : 100 : 15 : 200                       b.   60 : 24 : 105 : 280 
 c.  280 : 105 : 24 : 60                        d.   24 : 60 : 105 : 280 
 

141. Hira Lal invested Rs. 500 for 4 years and Rs. 600 for 3 years at simple interest. If the total interest on 
both is Rs. 190, what is the rate of interest percent annum? 
a. 10%  b. 2%  c. 7%  d. 5% 
P̀uh yhy;; &.500 I 4 Mz;LfSf;Fk;> &.600I 3 Mz;LfSf;Fk; rhjhuz tl;bapy; KjyPL 

nra;Js;shh;. ,t;tpuz;L KjyPLfspd; nkhj;j tl;b &.190 vdpy;> tl;b tPjk; Mz;Lf;F vt;tsT?  
a. 10%  b. 2%  c. 7%  d. 5% 

 

142. The difference between compound interest and simple interest on an amount of Rs.15,000 for 2 years 
is Rs.96, then the rate of interest per annum is 
a. 12   b. 8   c. 6  d. 10 
&.15>000-f;F 2 tUlq;fSf;Ffpilf;Fk; $l;Ltl;bf;Fk;>jdptl;bf;Fk; cs;sNtWghL&.96 vdpy; 
tl;btPjk; Mz;Lf;F 
a. 12   b. 8   c. 6  d. 10 
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143. If selling price of an article is 
8

5
times its cost price, the profit percent on it is: 

a. 120%  b. 160%  c. 40%  d. 60% 

xU nghUspd; tpw;gid tpiy> mjDila mlf;f tpiyiag; Nghy 
8

5  
klq;F vdpy;> me;j tpw;gid 

kPjhd ,yhg tpOf;fhL vt;tsT?  
a. 120%  b. 160%  c. 40%  d. 60% 

 
144. If a sphere just fits in a right circular cylinder, then the ratio of the volume of the sphere to the volume 

of the cylinder is ______ 
a. 2:3  b. 2:4  c. 2:6  d. 2:8 
xU Nfhsk; xU Neh; tl;l cUisf;Fs; rhpahfg; nghUe;JfpwJ> vdpy;> me;j Nfhsj;jpd; fd 
msTf;Fk; me;j cUisapd; fd msTf;Fk; ,ilapyhd tpfpjk; ______. 
a. 2:3  b. 2:4  c. 2:6  d. 2:8 

 
145. Raju purchased a Maruti Car 3 years ago for Rs.2 lakh. Its value depreciated each year at the rate of 

25% p.a. What is the present value of the car?    
a. Rs. 83,475/-  b. Rs. 2,83,475/-   c. Rs. 84,375/-  d. Rs. 87,435/- 
uh[_> xU khUjp tz;bapid> 3 Mz;LfSf;F Kd;dhy; & 2 yl;rk; kjpg;gpw;F thq;fpdhh;. mjd; 
kjpg;G Mz;Lf;F 25% tPo;r;rpaile;jJ vdpy;> me;j khUjp tz;bapd; jw;Nghija kjpg;G vd;d? 
a. Rs. 83,475/-  b. Rs. 2,83,475/-   c. Rs. 84,375/-  d. Rs. 87,435/- 

 
146. If x is 80% of y, then what percent of 2x is y?  

a. 40%  b. 62½%  c. 66¾%  d. 80%  
x vd;gJ y-y; 80% vdpy; 2x – d; vj;jid rjtPjk; y MFk;  
a. 40%  b. 62½%  c. 66¾%  d. 80%  

 
147. The mean mark of 75 students was found to be 35. Later on, it was found that as score of 32 was 

misread as 23. Find the  correct mean corresponding to the correct score. 
 a. 35.12  b. 35.21  c. 35.23  d. 35.32 
 75 khzth;fspd; kjpg;ngz;fspd; ruhrhp 35 vd;W fzf;fplg;gl;lJ. gpd;G 32 vd;w kjpg;ngz; 23 vd;W 

jtWjyhf vLf;fg;gl;lJ njhpa te;jJ. rhpahd kjpg;ngz;fisf; nfhz;L rhpahd ruhrhpiaf; fhz;f.  
 a. 35.12  b. 35.21  c. 35.23  d. 35.32 
 

148. If   is defined as x y = x2 + 2y, find the value of P if 4 (3 p) = 50 
a. 4   b. 7   c. 8   d. 12.5 

 vd;w nraypahdJ x y = x2 + 2y vd tiuaiwf;fg;gl;L> 4 (3 p) = 50 vdf; nfhLf;fg;gl;lhy;> 
P –d; kjpg;G fhz;f. 
a. 4   b. 7   c. 8   d. 12.5 

 
149. If HEATER is written as KBDQHO, how you encode COOLER 

a. FLRIHO   b. FHOIRL   c. LRHIOF   d. FRHLIO 
HEATER vd;gij KBDQHO vd vOJk;NghJ COOLER vd;gjd; Fwpahf;fk; ahJ? 
a. FLRIHO   b. FHOIRL   c. LRHIOF   d. FRHLIO 

 
150. Find out the wrong number 

5, 11, 23, 47, 90, 191, 383 
a. 11  b. 47   c. 191  d. 90 
jtwhd vz; vJ? 
5, 11, 23, 47, 90, 191, 383 
a. 11  b. 47   c. 191  d. 90 
 
 

 


